2.

3.

KARMASIK SAYILAR 7

z = 2c¢is50°
w = 4c¢is70°

olduguna gére, z.w karmasik sayisini bulunuz.

z = 3cis25°
w = 2cis65°

olduguna gére, z.w karmasik sayisini bulunuz.

z = 6(cos42° + isin42°)
w = 3(cos108° + isin108°)

olduguna gére, z.w karmasik sayisini bulunuz.

z=(4,75%
w = (3,150

olduguna gére, z.w karmasik sayisini bulunuz.

5.

6.

7.

z = 12cis125°
w = 3cis65°

Z
olduguna gére, " karmasik sayisini bulunuz.

z = 18cis350°
w = 3cis80°

VA
olduguna gére, ; karmasik sayisini bulunuz.

z = 6(cos142° + isin142°)
w = 3(c0s97° + isin97°)

zZ
olduguna gére, " karmasik sayisini bulunuz.
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